Erdgeschoss

>

Eingang
ca. 11,61 m*

Terrasse 1
50% ca. 10,89 m?

e

Flur
ca. 5,72 m*

ca. 4,16 m?

Terrasse 2
50% ca. 11,04 m?

Wintergarten
50% ca. 11,54 m*

Der Grundriss kann in Teilen
ungenau sein, es wird keine
Haftung libernommen!



Dachgeschoss

Kinder .
= Kinder
| a1, | ca. 16,04 m?

Balkon ; |
25% ca. 3,54 m? J ' .

Flur
ca. 5,16 m?

‘e | Schiafen
Bad | . ca. 7,84 m?

ca. 4,16 m*

Der Grundriss kann in Teilen
ungenau sein, es wird keine
Haftung libernommen!



Kellergeschoss

Raum 1
ca. 29,23 m*
Raum 2
ca. 2,64 m?
B Flur Raum 3
ca.688m* ca. 7,64 m? -
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Der Grundriss kann in Teilen
ungenau sein, es wird keine
Haftung libernommen!



